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(¢) Using Eq. 2.67 for ,,:

&0 = (Yala) = \/%«awwm = jﬁwoua_)"a) ~ = a"(ola) = S=ao.

- a1 _lal?
.d)l-Zianiz—ki S pefrelol o [ep = el

n=0
] o0 oo i wt
e) la(t}) _ Z CnefiE.,‘t/thE) _ Z ie—|a|2/2 —i(n+3 )\.utl,” umt/z Z (ae ) 'fla\ /2m}
n=0 n=0 n! n=0

Apart form the overall phase factor ¢~ */? (which doesn’t affect its status as an eigenfunction of a_, or
its eigenvalue), |a(t)) is the same as |a), but with eigenvalue a(t) = e “'a. v

(f) Equation 2.58 says a_|iy) = 0, so it is a coherent state, with eigenvalue




